Sr

10

1"

12

13

14

15

Questions

Su S o s S (e s g p) K S

o e oo s K (e S 6l £ S

€ st LS Jlasiad L1518 S 38 (S S 385 05l S 0

§ 2 D (S S s gaolos o) s Jsena S 31 S

fuw S bl ial Jae ol w0 (e G o) usle

fomla U)S S 68, phine S S il &y pa (S Sy I S 2

S0 S meoal) S 301K i S alile e (S o

S e Sl dalse s o€ paiile 3 (a5

?uﬁd)))ﬁacﬂéu'_\;méJ});u;\gc'\}:l-\j.ay;\j‘;\‘;‘l\;\éda\iﬁ)_ﬂs‘:jyewd&\w|:\'cun5

§ rondin (e S 1L S oenll dish s st Cinaa (R SIS (S 2

o S S Gl A i i ) i ) lie el oS 3 S 1S S e

e 03y e i S s 058 o S Y (e e S 0lse g Y Gl S 26l i

=S G S il G ) S (S S il sa

=S s S S ey Wy e S e (S a5 cu B alews

U i Sl S 03l IS IS sy i

Answers Choice

D.

OmP DO P DO®P DOUF DOUP DOWF UOEP U0®F DOmP UOWP U0®P U0DP» DOBP DO®m» 00>

~No o

oo

e i Sl
D (S pmige
Jed O3l
oM (S L dly Sez)la s

gl
J‘A /\lﬁ)
U

b

‘d.«l_,: é}ala “ﬁb&w cw.fn\:u
250 03 see (S8

iy sl B aadd

usis g sl

156 o S5
|.‘.'=JA:\.:|A)_§U):L},M
\.\cwm)gm

138 53 5

Glale Aie ga)
Rehosl s

o S s Ass
ndsl

kS
ol <l

e S eS an

TSN 9}4\»
a2 2l )

Lo
S50

e @) Gse
PENIST RS
08 Lo
s



16

17

up e Sl S ealy) JISE 1S Al guin

e 0SS oS Sise e (S S )9 Guant;

w >

oow

L 3e sl Ulise
Lo o8 e

G

ke
s

Osaly akal



